OMRON
# V500-R2CF

N—T—K)—-&
IR EHAE

DLV ARBESEVEFOELEEELTRIECHIHES
ZEVET, CEAICEL TS ROREE BFIESL,
“BROMBERTIFMIRPRHOTELY,
ZOBUREBAE & L(BIRAICEY, HMNTEBEDS AL IELS
CERCESL,
COBRBHBAFIIVOTHBETEBLIICKYNRELE Y,

Ce

ALOVHAREAE 5339935-0H

© OMRON Corporation 2013-2025 All Rights Reserved.

BELTDITER

ORI REAVEL D ORREBHKISONT

A TRIAN=T—F) = F 2L EN T8I,
ERAREAROISBFREM S TRLCOE S, 22T
IRUZZTEREAEIE, R AN B 3 AN A A DL T
FY L APF S TEEN BRETRIEK OO TT .

BROTBWRVETBE AN TS LIRE

et l 5 s B SRR B SN BB A RLET

BROBNRVET BEEEERDFREESD

A EFM BTSN B35S, BEV, WHBEORED
BESNBHAERLET,

KYPWBEER. KRB - R BLIURIMIBEHIIEAIEE
R~UET,

OXIFC 5 DEEA
‘L—HRAR ‘
L—FRIRDBIROFIBEMD HIHED
BEETRLEY,
RERIE
@ BBLIWETSETHBLEDGEIRID
TEEMS HBHEDRIEERLET.

WS & estimm)
@7/V500-R2CF

L—PREEREIERAL TSI

==

L—HRh B, £ EEmOMIEICREL

T BICASHEWESICTEELZZ N,

L—HDoRHEN L —H S d/ ST —BRED

S BICABERBAT 2 H TN HYIET,

AL, ERR AL — YRS ORIE<ED5L &

i—é—o
L= BIL TIREIN- A CL— R A R E S TOE T,
ENTHATNZEA ECTRANISh TRSHRTEh 2856 . 2h
BEIF THRICH U BILE .

AN=O—RY—FERELENTEE,
PETBEL—PRP BIDICHHSNET,

N\ixE

ZZICHELLADFIBICLSHI B RO

(HHA

JIS C6802:2014 Bk T, L——BL5h Do T AZIBEC THATH A Th AT h
BNV E TR BUE XN TOF T, B V500-R2CFIEA AR
232 ANSHENE T,

(2) K

ABLE A AL ORIENC T 32855 KIEIFDA (Food and Drug
Administration) OL—H—Bl%5Z3F 4, FFV500-R2CFIE FDABUK
®Laser Notice No.56DBEIZH:D%, IEC 60825-1:2014 45T 721
12 &3, ABLEHEZCDRH (Center for Devices and Radiological
Health) (ZJi 3% T3, RE TS FXIO@ED L A RIS ThH0ET .

(3) rhlE
JZV500-R2CF I3, GB/T 7247.1-20241 5 8B Class =0 X h 3,

(A HA OKIE], izl E B s E
JV500-R2CFIZIEC 60825-1:2014 / EN 60825-1:2014+A11:2021 41
oINS HENET,

L—H—ICBET B INILRR

B FDAGERAS NIV
T ARBRIEICEE S THIET,

FDAZERRZ NIV

@iz, MfF £ BEER(V500-R2CF)

| RELDES |

B AL RIH I S5728, LT OZEA#TF TSN,
LB DT

B ERNEA ZOBE TR AIL TR,

BBV A TRV A AA3d B35 CIAEFHL 8Tz,

BESR G5 B b BT T LN TR,

KLl ALZESE S O TRIE R I AN I S B 2B I FHL 8 T2 80,
CRTO RS SO A2 BT Cl i LN Tlz8n,
JRINIREL TR 32 T,

SRR IRSFOR VAR S 5720 IR 0B ) 27 D BEL C i
LT,

2., BRI DN T

« 4 Rk - MR T E 2 E DR 5 % 7200 L MBI IR E L TES8VS-01505
(€A =R A ] i RN

SEREEIE (5VE10%) 2 A EER R EHE R L 20 T,

SEEOBHHUIL RN T2, OK/NGIN MG (=T v av s )ik
BiERIRE LRV TR,

CEIERS LU TR TL7EE,

=T VSADE L, DT E WY 7R T > T E, s
Jhi-§ LA BED I RN A0 E S,

- AR B IR AR B ORI B L LR, [ — A d 50 N
il & 7 M2 B LA A 2T BB E D S BHAD IR A0 E T,

U A A B TR TOB HUE DMLY T T &N,

3. LA s D{ZIZ OV T

AR ORI ETER %, AR E DS 21T > TERN, F2 AR,

OB, LRiAV AT =2 RS S BT R A B0E
DT WIHIERHI TR D253 T 7520 7§ 58 EONFTAE S

JitiL TR,

4.Z20fh

SRR NG BH SR AR I LTSN,

AR AE B B6E . LT BEHIL 22D U780,

BERES DLEIL HERFERMEL TIUBIL T,

G S AR RHIEFI KL NS B ED B S ST B 3
I8 R Ly AN MONG Efi ) SV TN G E i A R B T QW 1 731

FEREDEE

BURDEIEARE, S, F73MERE BN BB 720, LI F D2 &
Ao TERD,
1B OWT
OIS EL LN TSN,
JEIVHEE D AR TR DS TOBRIHA A 535
IS A B DI (RS 3 253 71)

TSR TR DN TOB T Z A ST
RO SN B 35
HROIEEL (L=, T2V O SO E) A =B YA
YA B 7B R A f BT
NG G YT
F72, SERSIZRCIRL TS ERAEREE b IROBFNTIEREL AN TSN,
TSI A, AR A A5 B 5T
LR YOy SRR b DY
KL 2RO TRIE R IR I K3 B35 T

2. B O BRI = DT

BREIEIRL U TIBS8VS-01505(4 20y @A S T X,
FER SR OBE SN COBE N IZID R TZE N,

AR PR S B2 B O RN 2§ T IS,

PR L IR B A S BRI, SBIRD i, FTRIARZ E D ARkt D4 I, 1

RO RIOOTHER AT T, B AL TS 2B BN ET,
W XU R BBARA P 720, i 10y 20 SINEROS SRl 235 Anid.

VARG T I ERAEFIL T b IS AT > T,
TETRO R&ATEAET R 5 RN (R3mA) BUHL TEEW,
S3HUHFHZDNT
+ RIA—F) =L EEHT B, (RO MR E B B 3 T S,
- BHASE S BOF VAL, RS TRUEL TOSBEDML 7 TR
TN,
+ DO R O/ =T =R U TR 5 TR,
- U B KO IS o — 7 IS AR 2 RN TN,
4 RSF RIZ DN T
(DFEDBATHEN TR AL NP OENOEATTIHHL TS0,
YT —BEOERIEM LR TERN,
()74 T EEDNESE 52200 K AETITIND o TEEN,

WiERIR. Y& E0KE

ARRIAGRR B AR L E T, (M3 2V M fHF L 20.54N.m)

M3 Z&&3mm 38 —
6.25 7 13 S
‘ M3 X6 M3 X6
N ° =
N (-]
[ 1 - !
1 2 M3 & &3mm 18 o5
54 _
WfFRTE
37 16 719
§ %’—e
(- | 9
— — \
aAx94% /
EoLBBARI-F ¢38 105 2 b
BERS 15m S
WECHRE .
2 [GeZv )]
#£V500-R2CF ‘ Witae A
Sea
& ﬂ“%} iz #V500-R2CF
25250 O0Er 75 2) EAN—A-K | A—3—K WPC(JAN/EAN/UPC), Codabar(NW-7), ITF,
R S
ﬁéTc£1394-715267<T ypeA) Industrial20f5(STF), Code39, Code93, Code128,
oo | p X i B
R s larwye——iums GS1-128(EAN-128), GS1-Databar(RSS-14),
T e GS1-Databar Limited(RSS Limited),
i s LSS GS1-Databar Expanded(RSS Expanded),
T Tson e —— SR BADHIRAEL( S — B EIRIBRH S BEVET )
Ferwe [ B l—————— 8 smomtecr) | B0 RREE JN—3—K:0.15mm
# | — (I NG FHINGH /] | === == o o o o o — 458 = N 2=z o/ [>
) OK NG H JI#ZDINSY Y 207 223l T A, OK NG AhFANPCS) 0.45 LI E(BDREHT70%LLE)
WHIT —T L7 L CTRIIISAER N, BN OFiEE 60~270mm(##/¥—:0.5mm BF)
WSBNUAESOA B — —
s FWIARE A0°(EBENDT—I L EET)LA
Z%2—f4(a) +60°(7=#:L. £10°~TF8°I2k5<)
EvF(B) +30°
_____ %= FILNA(Y) +05°
2T 220N G FEEVon ~ —
K52 U REOFFIS I F BEVoft _ BEFEI(R) R=20mm(UPC12 #f1)
MREAD OK/NGIESDENER | | K F e Bl — ¥ (HK:650nm)
Pt Fh 1.0mW LIF(JIS 7521 I25%)
o | o —
.. - 2% v BT S24RF 1
e i T P
EAER NPNAF—7> L7 % x4 1000 ¥+ /%
EABRE De24V_30mA ¥ BIEEDLMEA L. JANT 8. MRDB3%LLE(PCS=0.9 LILE)D/S—I—R&EAL. Ly F AR a=0" X% 1~ B REL=15"
OFITBLTA OSmARLE FIMEEY=0". BHIR=coDRAEI THIEL T ET
ONEEERIE 0.3V Ky=0"\ BER=coDIRREI-TREL TLETo

WAz ft4e

i #4V500-R2CF
1>4-71—Z|@1Et# |RS-232C
OK/NG 7| NPN #=7>aLsaht=#0. =7 VNI H L E)
HERERRE AR A= 1—Y—hGERN AR RN TR AR
HEEMHE BN | SAEBRUA (NI TR AH)
a7 RIZEBRIH(RS-232C)
KIEDZF 4 REAZE BT AN DRI
OK/NG 55| SNIVEEERV L IhESIEOK 12 54°0ON
BRI NIV DS NIVERE IR
NGIESHON
FRLED | BEEURLIHRFIZOK LED(#R)D #4T
TH— BRI E T — S CRAGHE PIAE)
EEEE DC4.5~5.5V
HBER | BHERRS00mA LIT #45220mA 1T
EABHR | 2.0A MAX
Bt |EEREGE| EhFE0~+45C RiFE—10~+60T
BIEE LM 20~85%RH(772L. KiE-FEBLAELZE)
ARTRES | BRMEAZDENZE
AL HHEAT:4,0001x LIT AB5:80,0001x MUTF
i #RED 10~150Hz K#&i80.35mm 3 81 (X/Y/Z)
£8410@
ReEEE IP54(IEC60529 #i1%)
HE KEDAH | #1808
fHB&RAH | %9190g(HN £ 8 1R, x 028 8)
HaEE #1270 BFED)
HAHAZ | AEHAZ | $929(W)X34.5(D)X17(H)mm
WEFIZ | #9245(W)x110(D)x40(H)mm
N WEE S FLEDIN 225%
J-KE #91.5m
O—RE/NERT R #923mm
B BURGHERE, A= 1~ —h BBIR BT £ 8,
M3X6 %J(27). M3X8 %J(17).M5X10 %J(2%)
ME-t R —Z | TR LI 1R AN B
N3 |PCLEE
SNIVE | PET
B0k PMMA. 5ER
=7 PVC.2&
WERONBEEBOLT
ORI E AT
L—HEEIANIL
B Uk
ZZhbL—HY—KPREINET,
OHH

S FEFBLED

WEE BTN OB

BESSITCHT £ (M5 3V i HF L 22.3N.m)

Wit E

CAFHER

LipSid, — R T EUREIOABGREL TREHENESh TOET, REVEL T RIS

B3R THOEREERL TH5T. SR SiERECNSORRICHERASNBER

(1, LA LRI T RAE VLR Ao 22720, RICIBF B A& TH-T

HUHOBRL BRI GERAZEDEEPHRIOEE, H55EILREET,

(a) BVRLMN DEEINS AR (B RF AR R, BRI 0R. MR- TR, $%
SRR, )ﬁﬂ&%’x‘ﬁﬁ\ IR R RS RRKRE. ZTOMES FHFICERY KU
IBRE

(b) B\ MEREMEN LELERE (Bl A2 KE BREOHIGY AT L, 2405 & e
DAT I RIEY AT LENHER B EBURO R L E)

() BELLVRMEABIRETORE (FBIMCERE T 2540k, (LR B REW SR .
BRIBVIEE R B0 IRED- WHRER U S E)

(d) #EOTEICRBEDEVREPRETORS

*(@)r5(d)\CEHMIN TV B AH 2O FEMOBERSABE (ZHEST, UTH
U Tl EE Ao BEIEICEE T 2ARICRFIBLAVTT SV, BEIEHHE
FIRIC DV TR A B A M TR 2S00,

* LRCIGEE AROREO—ETT YHOANZNBEHZAY, 7 -2 —MNERFHR
DHEAT X =2 TINCEHORIE - RRBRAOARESLFA TIEAI Y,

ALOVHRRSAL 1207 0s--vaeyzanniz-

OHZICHTIBHVEDER
PERMRRE

I5:0120-919-066

B PHS IPEEAE TUIFIRB A ERADT, FRDBERES A BHIA,
B:5 055-982-501 5 camsvrmvzs

WERSRE : 9:00~17:00 (t®A. B®A. 128318 ~RFE1 B3R LK)
OFAXPWebN—T THHMVEDEVWELETET,
FAX 055-982-5051 / www.fa.omron.co.jp

QDD BMNEHE
M - (AR - YTV EREEREOBMEI%. A HT
EHF LAOCRRFTRICCHRR S0,
7+ L0 CHIEERERSEE P A L0 CBRFERA IR, WebX—T T
CEALTVET,

A@ 2024%4R8




OMRON
v VO00-R2CF

Bar Code Reader
INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet pri-
marily describes precautions required in installing and
operating the product.

Before operating the product, read the sheet thoroughly to
acquire sufficient knowledge of the product. For your con-
venience, keep the sheet at your disposal.

TRACEABILITY INFORMATION:
Representative in EU:

Omron Europe B.V.

Wegalaan 67-69

2132 JD Hoofddorp,

The Netherlands

Manufacturer:
Omron Corporation,
Shiokoji Horikawa, Shimogyo-ku,
Kyoto 600-8530 JAPAN
Ayabe Factory
3-2 Narutani, Nakayama-cho,
Ayabe-shi, Kyoto 623-0105 JAPAN

|

© OMRON Corporation 2013-2025 All Rights Reserved

PRECAUTIONS ON SAFETY

@®Meaning of Signal Words

Indicates a potentially hazardous
situation which, if not avoided, will
result in minor or moderate injury,
or may result in serious injury or
death. Additionally there may be
significant property damage.

Indicates a potentially hazardous
situation which, if not avoided,
may result in miner or moderate
injury or in property damage.

/\ CAUTION

Caution-Use of controls or adjustments or
peformane of procedures other than those
specifies herein may result in hazardous radiation
exposure.

*Usage
Use laser enclosure device to prevent specular object from
reflecting laser beam. When used without an enclosure, be sure
to avoid a laser path from eye level. Although the safety distance
(NOHD) is approximately 1 m; it is advisable, however, to
terminate the laser on its path if possible. Nonreflective, flatting
material is recommendable for termination. Wear protective
glassed to protect against laser light during set up and
adjustment.

Laser safety measures for laser devices are stipulated both in Japan
and overseas. Here, four cases are described.

(1) Usage in Japan

The JIS C6802:2014 standard stipulates the safety precautions that
users must take according to the class of the laser product. The
V500-R2CF is classified into class 1 defined by this standard.

(2) USA

This product is subjected to the U.S. FDA (Food and Drug
Administration) laser regulations. The V500-R2CF is classified
into Class 1 by the I[EC 60825-1:2014 standard according to the
regulations of Laser Notice No.56 of the FDA standard. This
product is already reported to CDRH (Center for Devices and
Radiological Health). The V500-R2CF has an FDA certification
label on the side of the sensors.

(3) China
The V500-R2CF is classified into Class 1 by the GB/T
7247.1-2024 standard.

(4) Usage in countries other than Japan, U.S. and China

When Usage in countries other than Japan, U.S. and China, the
V500-R2CF is classified into Class 1 by the IEC 60825-1:2014 /
EN 60825-1:2014+A11:2021 standard.

Labeling on Laser Use

BFDA certification label
Attached on the side of the
Sensors.

FDA certification label

@Alert statements
/\ WARNING

Laser beam )
Cautions to indicate potential laser beam hazard

/\ WARNING

Serious Electric shock is likely to Occur.
Do not disassemble or touch inner circuits
when power is supplied.

| Safety precautions for using laser equipment |
/\ WARNING

Do not expose your eyes to the laser radiation
either directly or indirectly (i.e.. after reflection
from a mirror or shiny surface).

Loss of sight may possibly occur in case of the
exposure to laser high power density.

Do not attempt to disassemble this Bar Code Reader.
There might be hazard to emit a laser-beam around, when this

product is disassembled.

BDimensions (Unit :mm)
@Model : V500-R2CF

@|nstallation design

M3 DEPTH 3mm 38

OPTICAL AXIS

6.2 7
T
AQ]) === \ %‘2 o=
4 |
3
o
[ | . .
17 29
M3 DEPTH 3mm
Sz 16 g OPTICAL AXIS
5
. .
CONNECTOR

VINYL INSULATED ROUND CORD

DIA3.8 10CORES BLACK
STANDARD LENGTH 1.5m

B Wiring and Connection

(Pin alignment)

@®V500-R2CF
Connector part (DIN: 8P plug )
Made by Hosiden Corporation
TCP1394-715267 (Type A)
ggllroer Pin No. ﬁiagnr]gl Function HeaderdM&gggr equipment
Green 1 SD  |Transmission data ———
White 2 RD Received data _—
| Gray 3 RS |Transmission request —
Blue 4 CS |Transmission allowed | ¢————ee
Brown 5 TRIG |External trigger signal | ¢
= 6 NC Not connected —
Black 7 S GND ov +———External =——
Red 8 VCC Power supply e External
Yellow| —(Note)| OK READ OK output == External
Orange| —(Note)| NG | READ NG output ========== External

Note) The OK and NG output lines are not connected to the DIN
8-pin connector. To use the OK and NG outputs, cut the cables.

MExternal trigger signal input circuit | |
L

TR\GI!

b
Von/off;

External trigger signal

sG,
ltem Minimum value |Maximum value
Terminal voltage Von when a
transistor is tu?ned on ov 0.8v

Terminal voltage Voff when a
transistor is turned off

HREAD OK/NG signal output circuit
OK/NG

SG
Item Specification
Output system NPN open collector
Rated load 24 VDC 30 mA
Leak current at OFF 0.5 mA or less
Residual voltage at ON 0.3 Vorless

B Function Specifications

Precautions for Safe Use

Observe the following precautions to ensure safe use of the product.
1. Installation Environment

- Do not use the product in environments containing flammable or
explosive gases.

- Do not use the product in environments containing corrosive or
combustible gases.

-Do not use the product in environments containing dust, salt, or
metallic powders.

-Do not use the product in environments containing droplets, water or
mist, oil or chemical agents.

- Do not use the product in environments that may be affected by a
CRT's flashing or other ambient light.

- Do not install or use the product outdoors.

- For the purpose of ensuring safe operation and maintenance, do not
install the product close to high-voltage devices or electrically powered devices.
2. Power Supply and Wiring

-To assure noise and insulation resistance, be sure to use
S8VS-01505 (made by OMRON) as a driving power supply.

Do not connect a voltage or AC power supply that has a voltage
exceeding the rating voltage (5 V+/-10%).

- Avoid reverse connection of power supply. Do not short circuit a
load on OK/NG output signal (open collector).

+ Avoid applying a load that exceeds the rating.

- Be sure to turn the power OFF before connecting or disconnecting a cable.
Connecting or disconnecting a cable while the power is ON may cause failure.
- Connect different cables from high-voltage or power cables to

the product. If the same cable or duct is used, electromagnetic
induction may result, which may result in malfunction or damage.

- Tighten the fixing screws at the torque specified in this manual.

3. Communication with Upper Equipment

- Check that the product has started up, and then start communication
with upper equipment.

- Indefinite signals may be generated from the upper interface while
the product starts up. Clear the receive buffer of the devices before
starting initial operation.
4. Other

- Do not use the product in a safety circuit for nuclear or life-support systems.
-Never attempt to disassemble, repair, modify, deform by applying
pressure, or burn the product.

- Dispose of the product as industrial waste.

-If the product becomes extremely hot, or abnormal odors or smoke
are emitted, stop using the product immediately, turn the power OFF,
and consult with your OMRON representative.

Precautions for Correct Use |

Always observe the following precautions to prevent operation
failures, malfunctions, and adverse effects on performance and equipment.
1. Installation location
The product must not be installed in a place:

- where ambient temperature is outside the range defined in the specifications,
-where a rapid temperature change (dew condensation) occurs,

-where ambient humidity is outside the range defined in the specifications,
-where direct vibration or shock may affect the product,

-where exposed to intense ambient light (laser, arc welding, or UV light),
-where exposed to direct sunlight or heat from heating appliances, and
where a strong magnetic or electric field exists.
Because of the protection rating described in the manual, avoid
using locations containing:

- corrosive or combustible gases,

-dust, salt, or metallic powders,

-droplets, water mist, oil or chemical agents.
2. Power supply, connection, and wiring
- Be sure to use S8VS-01505 (made by OMRON) as a driving power supply.
*Do not install the product in a location where a high-voltage device
is installed.
-Be sure to use the supplied insulation board to assure the noise
resistance.
- After connecting the cables, check that the correct power supply
is used, that there is no load short-circuiting or other inappropriate
connections, and that the load current is correct before turning
the power ON. Faulty wiring may be the cause of failure.
- Use a wrist strap or other similar device to avoid electrostatic
charge when you touch terminals and signal lines within a connector,
and to avoid damage due to static electricity.
- Try to keep the length of the power cable to a minimum (less than 3 m).
3. Installation
- Always use the enclosed insulating plate and mounting bracket

when mounting the bar-code-reader.
- Always use the enclosed screw and tighten it by standard torque

in this book when mounting the bar-code-reader.
-Incline the bar-code-reader by 15° for bar code and mount it.
-Do not give the stress to the cable when mounting and while using.
4. Maintenance
(1) Lightly wipe off dirt with a soft and dry cloth if the reading

window is dirty. Do not use paint thinner or any other organic
solvent to clean the product.

(2) Do not give the heavy shock and drop the product.

5. Notice for Korea Radio Law
Please see the following URL for Korean KC mark compliance
information.
http://www.rra.go.kr/selform/OMR-V500-R2

Minstallation of insulating plate and mounting bracket.

Install insulating plate and mounting bracket on the main body.
(M3 screws, Tightening torque : 0.54N.m)

M3x6 M3x6

B Specifications
Model V500-R2CF
Interface Communicatio | RS-232C

n specification

OK/NG outputs| NPN open collector output
(Necessary to cable shaping)

Function setting method Menu sheet reading method or host

command method

Functional Reading
specifications |trigger

External trigger (Transistor input)

Trigger by command(RS-232C)

Trigger a test reading by pressing the SCAN
button on the product

OK/NG OK signal is turned on to indicate a successful read
signals NG signal is turned on to indicate a successful read
a non-registered label

Indication OK LED(green) illuminates to indicate a successful
LED read
Buzzer Notifies a successful reading with a buzzer

sound(Muting available)

F'ow_er su_pply Power voltage | DC4.5~5.5V
specification  { Gonsumption | During operation:500mA or less
current During standby:220mA or less

Inrush current | 2.0A MAX

Environmental | Ambient At operation:0~+45 °C

specifications |temperature | At storage:—10~+60 °C

Ambient At operation and storage : 20 to 85% RH
humidity (with no icing or condensation)

Ambient atmosphere| No corrosive gas
Ambient light | Fluorescent light:4,000Ix max.

resistance Sun light:80,000Ix max.

Vibration 10 to 150 Hz, single amplitude: 0.35 mm,
Resistance X/Y/Z directions, 8 min each, 10 times
(destructive)

Degree of protection IP54(IEC60529 standard)

Weight Main body only [ Approximately 80 g

Main body Added Approximately 190g (including mounting
accessories bracket , insulating plate and screws)

Packing weight | Approximately 270g(including packing)

Dimensions | Main body Dimension| Approximately 29(W)x34.5(D)x17(H)mm
Packing Dimension| Approximately 245(W)x110(D)x40(H)mm

Input connector Round DIN connector

Code length Approximately 1.5m

Code minimum bending radius | Approximately 23mm

Accessories Operation manual. menu sheet. mounting bracket,
Insulating plate M3x6 screws(two),
M3x8 screws(one), M5x10 screws(two)
Material - |Upper case Magnesium die casting, color : black
Color Front panel PC color : black
Label PET
Reading window | PMMA color : transparence
Cable Polyvinyl chloride(PVC) color : black

Model V500-R2CF

Applicable Bar code WPC(JAN/EAN/UPC), Codabar(NW-7), ITF,

codes Industrial2of5(STF), Code39, Code93, Code128,
GS1-128(EAN-128), GS1-Databar(RSS-14),
GS1-Databar Limited(RSS Limited),
GS1-Databar Expanded(RSS Expanded),

Number of reading digits No upper limit (depends on bar width and reading distance)
Reading Resolution Bar code:0.15mm (PCS0.9 or more)
E);r)formance Contrast(PCS) 0.45 min(In cases with over 70% reflectivity of space)

Reading Distance

60 to 270 mm (Narrow Bar : 0.5 mm)

Reading Angle

40°max. (including the margin of the both side)

Skew Angle(a) +60°(except for upper 10°and lower -8°)
Pitch Angle(B) +30°

Tilt Angle(y) +25°

Reading of R=20mm(UPC12 digit)

bar-codes on curved

surface(R)

Light source

Red Laser Diode (Wave Length : 650nm)

Light Output

1.0mW or less

Scan Type

Raster scan

Frequency of scan

1000 scan/sec.

% Unless otherwise specified , the reading performance is defined with angle a=0°, 3=+15°, y=0°,R=c0;
illuminance : 100 to 200 Ix(on label side); lightning: threeband inverter fluorescent lamp; reading rate: 90% or more.

B Appearance and Components names

@Front Main Unit Cable

Laser Warning Label

Reading Window
Laser Beam is emitted.

Reading Check LED

Minstallation at the mounting surface

Install the bar-code-reader with insulating plate and mounting bracket
at the mounting surface. (M5 screw, Tightening torque : 2.3N.m)

Mounting surface

Horizontal line

Suitability f

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer's request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer's application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING
SERIOUS RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE
SYSTEM AS A WHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS,
AND THAT THE OMRON PRODUCT(S) IS PROPERLY RATED AND
INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

OMRON Corporation  Industrial Automation Company
Kyoto, JAPAN Contact: www.ia.omron.com

Regional Headquarters

Il OMRON EUROPE B.V.
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388

Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road # 05-05/08 (Lobby 2),
Alexandra Technopark,
Singapore 119967
Tel: (65) 6835-3011/Fax: (65) 6835-2711

[l OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-5037-2222/Fax: (86) 21-5037-2200

D® Jun, 2019




